
 

 

A. Choose the correct answer: 
1. What is 7 × 6? 

 a) 42    b) 36 

 c) 48    d) 56 

2. Which number gives 35 when multiplied by 5? 

 a) 8    b) 7 

 c) 6    d) 5 

3. 9 × 4 equals: 

 a) 36    b) 34 

 c) 32    d) 38 

4. What is the product of 6 × 8? 

 a) 48    b) 52 

 c) 54    d) 56 

5. 3 multiplied by 9 is: 

 a) 27    b) 26 

 c) 24    d) 29 

B. Write the Missing Terms to Complete the Sentences: 

 1. 1 × 5 = ______ 

 2. 8 × 7 = ______ 

 3. 4 × 6 = ______ 

 4. 3 × 9 = ______ 

5. 2 × 0 = ______ 

C. Mark each sentence with a True (✔) or False (✘): 

 1. 1 × 9 equals 0    ______ 

 2. 7 multiplied by 5 is 35  ______ 

 3. 4 × 6 = 24    ______ 
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 4. 2 × 3 = 9    ______ 

5. 0 × 8 = 0    ______ 

D. Figure out the answers to these questions: 

1. Write the table of 7 from 1 to 10 

2. Find the product of the smallest 2-digit number with 4 

3. A box has 6 pencils How many pencils are there in 5 such boxes 

4. Fill the blank 9 × ___ = 54 

5. Arrange these in ascending order of their product 3×4 2×6 1×8 

E. Challenge yourself with these questions: 

1. Rohan eats 3 apples daily How many apples will he eat in 7 days 

2. Using the table of 8 complete the series 8×2 8×3 8×4 8×5 

3. What is the product of 5 and 0 

4. Multiply the number of wheels on one car by 4 cars 

5. Match the following 
a) 2 × 6   i) 16 

b) 3 × 7  ii) 18 

c) 4 × 4   iii) 14 

d) 6 × 3   iv) 24 

e) 2 × 8   v) 12 

  


